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Q.1
Ans

Comprehension:

Read the given poem and answer the questions based on it :
We like to think of it as parallel to what we know.,
Only bigger. One man against the authorities.

bies. One man

Or one man against a city of
Who is not, in fact, a man, sent to understand

The caravan of men now chasing him like red ants
Let loose down the pants of America. Man on the run.
Man with a ship to catch, a payload to drop.

This message going out to all of space. . . . Though
Maybe it's more like life below the sea: silent,
Buoyant, bizarrely benign. Relics

Of an outmoded design. Some like to imagine

A cosmic mother watching through a spray of stars,
Mouthing yes. yes as we toddle toward the light,
Biting her lip if we teeter at some ledge. Longing

To sweep us to her breast, she hopes for the best
While the father storms through adjacent rooms
Ranting with the force of Kingdom Come.

Not caring anymore what might snap us in its jaw.

SubQuestion No : 1
What is the meaning of "outmoded” as used in the passage?

x 1. Eccentric and unusual
& 2. No longer in fashion or use
75 3. Recently designed

5 4. New and innovative

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680453720
6306801771838
6306801771837
6306801771839
6306801771836
Not Answered




Q.2

Comprehension:

Read the given poem and answer the questions based on it :
We like to think of it as parallel to what we know.,
Only bigger. One man against the authorities.

bies. One man

Or one man against a city of
Who is not, in fact, a man, sent to understand

The caravan of men now chasing him like red ants
Let loose down the pants of America. Man on the run.
Man with a ship to catch, a payload to drop.

This message going out to all of space. . . . Though
Maybe it's more like life below the sea: silent,
Buoyant, bizarrely benign. Relics

Of an outmoded design. Some like to imagine

A cosmic mother watching through a spray of stars,
Mouthing yes. yes as we toddle toward the light,
Biting her lip if we teeter at some ledge. Longing

To sweep us to her breast, she hopes for the best
While the father storms through adjacent rooms
Ranting with the force of Kingdom Come.

Not caring anymore what might snap us in its jaw.

SubQuestion No : 2
Which of the following best izes the passage?

x 1. The passage describes the parallel between life above and below.the sea and the pursuit of knowledge.

#X 2. The passage explores the cosmic mother's protective instincts towards humanity and the father's
anger.

o 3. The passage reflects on a man's flight fromgpursiters and his mission to communicate with
extraterrestrial life.

X 4. The passage discusses a man's escape from a city of zombies and his quest to send a message to
space.

Question ID : 630680453718
Option 11D : 6306801771831
Option 2 ID : 6306801771829
Option 3 ID : 6306801771830
Option 4 ID : 6306801771828
Status : Not Answered
Chosen Option : —-




Comprehension:

Read the given poem and answer the questions based on it :

We like to think of it as parallel to what we know.,
Only bigger. One man against the authorities.

bies. One man

Or one man against a city of
Who is not, in fact, a man, sent to understand

The caravan of men now chasing him like red ants
Let loose down the pants of America. Man on the run.
Man with a ship to catch, a payload to drop.

This message going out to all of space. . . . Though
Maybe it's more like life below the sea: silent,
Buoyant, bizarrely benign. Relics

Of an outmoded design. Some like to imagine

A cosmic mother watching through a spray of stars,
Mouthing yes. yes as we toddle toward the light,
Biting her lip if we teeter at some ledge. Longing

To sweep us to her breast, she hopes for the best
While the father storms through adjacent rooms
Ranting with the force of Kingdom Come.

Not caring anymore what might snap us in its jaw.

SubQuestion No : 3

Q.3 What is the primary literary device used in this passage?

Ans

x 1. Alliteration
x 2. Irony

o 3. Metaphor
X 4. Personification

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :
Status :
Chosen Option :

630680453717
6306801771825
6306801771826
6306801771824
6306801771827
Not Answered




Comprehension:

Read the given poem and answer the questions based on it :
We like to think of it as parallel to what we know.,
Only bigger. One man against the authorities.

bies. One man

Or one man against a city of
Who is not, in fact, a man, sent to understand

The caravan of men now chasing him like red ants
Let loose down the pants of America. Man on the run.
Man with a ship to catch, a payload to drop.

This message going out to all of space. . . . Though
Maybe it's more like life below the sea: silent,
Buoyant, bizarrely benign. Relics

Of an outmoded design. Some like to imagine

A cosmic mother watching through a spray of stars,
Mouthing yes. yes as we toddle toward the light,
Biting her lip if we teeter at some ledge. Longing

To sweep us to her breast, she hopes for the best
While the father storms through adjacent rooms
Ranting with the force of Kingdom Come.

Not caring anymore what might snap us in its jaw.

SubQuestion No : 4

Q.4 What is the significance of the "message going out to all of space”?

Ans

x 1 It represents the protagonist’s desire for communication.
x 2. It symbolizes the protagonist's mission or purpose.
#X 8. It's a call for help from the protagonist.

& 4. It's a metaphor for the protagonist's quest forsknowledge.

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :
Status :
Chosen Option :

630680453719
6306801771834
6306801771835
6306801771832
6306801771833
Not Answered




Comprehension:

Read the following passage and the questions below.

Reading is a magical journey that allows us to transcend the confines of our physical surroundings and embark
on adventures that span across time and space. It serves as a passport to uncharted territories, a window

through which we can peer into the annals of history, and a gat leading us to the boundless possibilities of
the future. When we pick up a book, we are not merely flipping through pages S stepping into the
shoes of the characters, living their joys and sorrows, and experi g their tri s and trials.

The benefits of reading extend far beyond the acquisition of knowledge. although that is certainly one of its

invaluable perks. With each word absorbed, our vocabulary blossoms like a garden in spring, enabling us to
express ourselves more eloquently and persuasively. Moreover, reading fosters empathy, allowing us to
connect with the diverse range of characters we encounter in literature. We feel their emotions, share in their
struggles. and celebrate their victories, all from the comfort of our own world.

In a world bustling with distractions, the act of reading provides a sanctuary for the mind. a tranquil refuge
where we can retreat to find solace and enlightenment. It fuels our imagination, encouraging it to take flight
like a majestic bird soaring through the limitless skies. So. with a book in hand, we are not just reading: we
are embarking on a grand odyssey of the mind and spirit, exploring the vast tapestry of human experience,
and uncovering the treasures of wisdom hidden within the written word. Therefore. | implore you, dear
students, to pick up a book. open its pages, and let your imagination soar to heights yet unknown.

SubQuestion No : §

Q.5 According to the passage, reading helps us do all of the following EXCEPT :

Ans

& 1. Disconnect from the world
K 2. Enhance vocabulary
x 3. Understand the future

75 4. Explore the past

Question ID : 630680456057
Option 11D : 6306801781170
Option 2 ID : 6306801781168
Option 3 ID : 6306801781169
Option 4 ID : 6306801781167
Status : Not Answered
Chosen Option : -~




Comprehension:

Read the following passage and the questions below.

Reading is a magical journey that allows us to transcend the confines of our physical surroundings and embark
on adventures that span across time and space. It serves as a passport to uncharted territories, a window

through which we can peer into the annals of history, and a gat leading us to the boundless possibilities of
the future. When we pick up a book, we are not merely flipping through pnges S stepping into the
shoes of the characters, living their joys and sorrows, and experi g their tri s and trials.

The benefits of reading extend far beyond the acquisition of knowledge. although that is certainly one of its

invaluable perks. With each word absorbed, our vocabulary blossoms like a garden in spring, enabling us to
express ourselves more eloquently and persuasively. Moreover, reading fosters empathy, allowing us to
connect with the diverse range of characters we encounter in literature. We feel their emotions, share in their
struggles. and celebrate their victories, all from the comfort of our own world.

In a world bustling with distractions, the act of reading provides a sanctuary for the mind. a tranquil refuge
where we can retreat to find solace and enlightenment. It fuels our imagination, encouraging it to take flight
like a majestic bird soaring through the limitless skies. So. with a book in hand, we are not just reading: we
are embarking on a grand odyssey of the mind and spirit, exploring the vast tapestry of human experience,
and uncovering the treasures of wisdom hidden within the written word. Therefore. | implore you, dear
students, to pick up a book. open its pages, and let your imagination soar to heights yet unknown.

SubQuestion No : 6

Q.6 How does reading benefit our vocabulary?

Ans

x 1. It leads to the acquisition of boundless possibilities.
o 2. It allows us to express ourselves more eloquently.
75 3. It helps us learn about the annals of history.

#5 4. It makes us empathetic towards others.

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680456056
6306801781164
6306801781166
6306801781163
6306801781165
Answered

2




Comprehension:

Read the following passage and the questions below.

Reading is a magical journey that allows us to transcend the confines of our physical surroundings and embark
on adventures that span across time and space. It serves as a passport to uncharted territories, a window

through which we can peer into the annals of history, and a gat leading us to the boundless possibilities of
the future. When we pick up a book, we are not merely flipping through pnges S stepping into the
shoes of the characters, living their joys and sorrows, and experi g their tri s and trials.

The benefits of reading extend far beyond the acquisition of knowledge. although that is certainly one of its

invaluable perks. With each word absorbed, our vocabulary blossoms like a garden in spring, enabling us to
express ourselves more eloquently and persuasively. Moreover, reading fosters empathy, allowing us to
connect with the diverse range of characters we encounter in literature. We feel their emotions, share in their
struggles. and celebrate their victories, all from the comfort of our own world.

In a world bustling with distractions, the act of reading provides a sanctuary for the mind. a tranquil refuge
where we can retreat to find solace and enlightenment. It fuels our imagination, encouraging it to take flight
like a majestic bird soaring through the limitless skies. So. with a book in hand, we are not just reading: we
are embarking on a grand odyssey of the mind and spirit, exploring the vast tapestry of human experience,
and uncovering the treasures of wisdom hidden within the written word. Therefore. | implore you, dear
students, to pick up a book. open its pages, and let your imagination soar to heights yet unknown.

SubQuestion No : 7

Q.7 What is the paragraph's overall message to the students?

Ans

x 1. Reading is only for those interested in history.
#5 2. Reading is a solitary and boring activity.
o 3. Reading is an essential aspect of personal development.

75 4. Reading is a chore that should be avoided.

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680456055
63068017 81161
6306801781162
6306801781160
6306801781159
Answered

3




Comprehension:

Read the following p

ge and the questions below.

Reading is a magical journey that allows us to transcend the confines of our physical surroundings and embark
on adventures that span across time and space. It serves as a passport to uncharted territories, a window
through which we can peer into the annals of history, and a gat leading us to the boundl ibilities of
the future. When we pick up a book, we are not merely flipping through pnges S stepping into the
shoes of the characters, living their joys and sorrows, and experi g their tri s and trials.

lod

The benefits of reading extend far beyond the acquisition of | ge. although that is certainly one of its
invaluable perks. With each word absorbed, our vocabulary blossoms like a garden in spring, enabling us to
express ourselves more eloquently and persuasively. Moreover, reading fosters empathy, allowing us to
connect with the diverse range of characters we encounter in literature. We feel their emotions, share in their
struggles. and celebrate their victories, all from the comfort of our own world.

In a world bustling with distractions, the act of reading provides a sanctuary for the mind. a tranquil refuge
where we can retreat to find solace and enlightenment. It fuels our imagination, encouraging it to take flight
like a majestic bird soaring through the limitless skies. So. with a book in hand, we are not just reading: we
are embarking on a grand odyssey of the mind and spirit. exploring the vast tapestry of human experience.
and uncovering the treasures of wisdom hidden within the written word. Therefore. | implore you, dear
students, to pick up a book, open its pages, and let your imagination soar to heights yet unknown.

SubQuestion No : 8
Q.8 What analogy is used to describe imagination in the passage?
Ans

#5 1. Imagination as a burdensome cloud.
#5 2. Imagination as an open book.
75 3. Imagination as an endless desert.

o 4. Imagination as a majestic bird soaring through the limitless skies

Question ID : 630680456058
Option 11D : 6306801781174
Option 2 ID : 6306801781171
Option 3 ID : 6306801781172
Option 4 ID : 6306801781173
Status : Answered
Chosen Option : 4
Q.9 What is the correct order of words in a standard English sentence?
Ans X' 1. Verb - Subject - Object
X 2. Subject - Object - Verb
o 3. Subject - Verb - Object
75 4. Object - Verb - Subject
Question ID : 630680453721
Option 11D : 6306801771842
Option 2 ID : 6306801771843
Option 3 ID : 6306801771841
Option 4 ID : 6306801771840
Status : Answered
Chosen Option : 3




Q.10 What is the antecedent of the pronoun "it" in the sentence:
"The cake was delicious, and | ate it all"?

Ans ¥ 1. Cake
X 2. Ate
X 3. Delicious
X4l
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :
Status :
Chosen Option :

630680453722
6306801771844
6306801771847
6306801771846
6306801771845
Not Answered

Section : Fart 1 General Odia

Comprehension :

RAMEe GR4IaIg ARg e° el 2RINEA Jggena aaa Gaig
RIPed AYIRIQ FRIAIQ

606694l FARRAIRAQ AYIRIQ eCed ATRIEA &. . AId A6R | IRA! IGIRA ARG 696R OIF AR
QLG QRIR g9l 6A9RA 606l BIQ AFIPRS! QI LR R JATER FIRR @QEER G GEERERE]
AR6R AQRR AQYER | AAIPAEIF 6261 FRRIAIR AYIRIG Ga Gl6M | 6d0I6R 60 GIF TISER O@
RaQIel AR A6M | AFIPRE GIF &. IR, CRAAIR AAUAE 626R | AYIRIR A8y AT A6a Ol
@R 62RI | @A AP T6Q 6Q26R 6INRA QAEAGY QYR AALE ISR | TOI, ACREAIQ GI6
0RQIR afg 9UQ @6m 62, AFIRIQ IR Ja6a Farieh 6RIRGIR | @REQ INIRT AIFARIIFOIQ 64
Q18 o8 PR | FIFE ARIFLER 64 RERRGI 6AITIRIAR O AAde 6291 Jar @1AR-QRRTD
2IgQ 626m | YR AYIRIRE FIRAIAI By dRI6a 0o |

SubQuestion No : 1
Q1 Qg APERAER "6d0IER” - RN IS 62IRE?
Ans X1 6Q6QQ4
X 2. Qeglel
X 3. CRIQeYIRL

o 4. Qa

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

630680452613
6306801767494
6306801767492
6306801767493
6306801767491
Answered

4




Comprehension:

RAMEe G469 ARg e° el 2RINEA 9ggena aan baig
RIPRE AYIRIQ FRIdIQ

60604l FRIRAIRAQ AYIRIQ eced AdlEa &. . AId RER | IRQI IGIRA AQG! 6967 QIR 2RI
QAL QRIR 29I 6IQRA 6R6aRAI RIQ AFIFNS QI eCed 69RG JAIER FIRR GQEEM G GEERERE]
AIP6q @ARE Qg | AFIPREF 606l @RRIIN RAYIRIE g1 6m| 6A0IER 64 GIEF AISER Q8
RegI2l 96n QEm | AFIGRE GIF Q. IR AR AUFE 696m | AYIFIQ U8 6FR2AILTR A6R OIF
@9 62Rl | @A [IHHAI U6Q 6926 EARIRA QAICAIGH QYRIQ RAAG JRISAIRRI | TOI. AUFREAIQ Gl
0R8gIa AAg 9ae @6m 69, AFIRIY IR R aRIEt 6RIRCEM | @RGR AN AUARIAEFOIQ 6
Q181 gR8l FRLem | FIFR ARIFLER 64 QRERRE! 6aIIRIAR O AATe 621 Jar @AR-QRRTD
219 626M | 1RIQ AYIRIQE Q1ORIQI Qg JRI6R cIoamI |

SubQuestion No : 2

0.2 QAIeQd GIF @ IR, 0del AIE AQIF 6Q6m-9F QIRYER "GIF" - RIPITIS QIQPE 62IRE?

Ans X1 QIGIQQ
o 2. QI
X 3. QaQIg
X 4. 6alIaiRIe
Question ID : 630680452611
Option 11D : 6306801767486
Option 2 ID : 6306801767483
Option 3 ID : 6306801767484
Option 41D : 6306801767485
Status : Answered
Chosen Option : 2
Comprehension:
AOReE 6R4°6Ig ARQ e QI AVINER JEFENR AR F2ig
RIQRS AYIRIQ ALICIQ
60604l FRIGAIRAQ RYIRIQ eCeq ARIER &. 1. dI K6 | IRQI IQIRY JL6! 6Q6R QIR 2RI
QG QAR 29l 6IARA 6Q6ARAI |19 AAIFAS QIA..CeT 6aRG JAIER FIRR AR B QEERERE]
AR6q @URR Qe | AIPREIE 626l FARIIN RYIRIE G cI6m| 6d0I6R 64 Bl ISER Q8
@eIgIel Adle oM | AAIRE Gl 8. YR, JRAIE AQIFE 696m | AYIFIR 1Ry 6FAZITE! d6q Gl
@R 62Rl | @A BIPLRI A6R 69264 6ARIRA QRIEAIS QURIQ AAAH IRISAIARI | TI. AUFLEQ GI6F
0RQIR aAg gU9 K6m 62, AFIRIQ IV Za6a FRIE! 6RIRGIR | @RYY AR AIFARITFOIQ 64
Q1R gR& PRLER| FIFE AAIFIEER 69 RERRE! 6HITIRIAR g6 QAR 6291 490 M1ER-QeRJE
2Igg 626M | N2IQ AYIRIGE F1eRUIAI AR dRI6a 6Pam |
SubQuestion No : 3
Q.3 Qeamead AId- 60610 2Qge?
Ans X1, 6alsl
X 2 @0Q
K 3. Qe6Rga
o 4. 9o
Question ID : 630680452610
Option 11D : 6306801767482
Option 2 ID : 6306801767479
Option 3 ID : 6306801767481
Option 4 ID : 6306801767480
Status : Answered
Chosen Option : 4




Comprehension:

RAMEe GQ4ag ARg 1e° el 2RINEA 9ggena aaa baig
RIPRE AYIPIQ FRIAIQ

60604l FRIRAIRAQ AY1RIQ eced Adlea &. 4. AId R6R | IRQI IGIRA AQG! 6967 QIR 2RI
QKR QAR 23 6ARRR 6Q6@RAI ]IQ AAIFAE QA RCRY 6RQ JAI6R FIRR FQRJEM 6 QEERERE]
AI6q @AIRE Qg | AFIPQAES 6@6ll @ARIIN AYIRIE g1 6m| 6d0I6R 64 Gl ISER Q8
@egI2l A6n QEm | AFIGRE GIF Q. IR AR AUFE 606m | RYIFIQ U8 6FR2AITR A6R OIF
@9 62Rl | @A [IHAQI A6Q 6926 EARIRA QARG QYRIQ RAAG JRISAIRRI | TOI. AUFREAIQ Gl
0R8gIa aAg 9ae @6m 69, AFIRIY IR R aRIEt 6RIRACM | @RGY AN AUARIAEFOIQ 6
Q18 26 PR | FIFE AQUFEER 69 RERAE! alITIRIIR 96 AATE 6291 4I@ MER-QRRJE
2IgQ 626M | Y2IQ AYIRIQE Q1ORIQI Qg JRI6R cIoam! |

SubQuestion No : 4
Q4 9 ARG AVQIQR?
Ans X1 6lldiRIel

o 2. QFI6Q4
X 3. QaQIg
X 4. QOQo
Question [D : 630680452612
Option 11D : 6306801767488
Option 2 ID : 6306801767489
Option 3 ID : 6306801767487
Option 4 ID : 6306801767490
Status : Answered
Chosen Option : 2
Q5 caeld "6a6Ra” (R 1Y Qa?
Ans X1 QRAIQQ!
o 2. 692
X 3. 2eq
X 4. acel
Question ID : 630680452662
Option 11D : 6306801767662
Option 2 ID : 6306801767659
Option 3 ID : 6306801767660
Option 4 ID : 6306801767661
Status : Answered
Chosen Option : 2




Comprehension:

RERE ARvPaIg ARg Ne° 121 ARINER JgPaa aaa daig
ellaly

fl6R QIE Q6A AIRIA AQIA.

eneal-Glasd gert Al gie |

99gQEa gog) QelR.

A5 QIEP 6lR8e 6060 QIR ?

69 4P| F6R G6R @ QIR

@Q2JQ 2R 6866 6 VIR ?

2J6m 266 649 Q@R QIFT,

92 &ell AR Q@I agelen,

Q661 621Q 698 Q°6IQ AQH.

I AR 62M 2AGH |

SubQuestion No : 6

Q.6 Qg Qe "6REAT 66l 2d6a Qe ?

Ans

o 1 TQ
X 2. Q4
X 3 Qe

X 4. ag

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680452657
6306801767642
6306801767641

6306801767640
6306801767639
Answered

3




Comprehension:

RERE ARvPaIg ARg Ne° 121 ARINER JgPaa aaa daig
ellaly

f6R Q1T Q6A AIRIQ AQIA.
eneal-Glasd gert Al gie |
99gQEa gog) QelR.

A5 QIEP 6lR8e 6060 QIR ?
69 4P| F6R G6R @ QIR
@92JQ 2R 666 6 VIR ?
2J6m 266 649 Q@R QIFT,
92 &ell AR Q@I agelen,
Q661 621Q 698 Q°6IQ AQH.
AR AR 62 2616 |

SubQuestion No : 7

Q7 6aal daf "ef" aeq gdae ?

Ans

1. 29

X 2. dal
X 3. &ad
X 4. gRg

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680452660

6306801767653
6306801767654
6306801767652
6306801767651

Answered

1




Comprehension:

RERE ARvPaIg ARg Ne° 121 ARINER JgPaa aaa daig
ellaly

f6R Q1T Q6A AIRIQ AQIA.

eneal-Glasd gert Al gie |

99gQEa gog) QelR.

Q6 QIEP 61R8e 6060 QIR ?

69 4P| F6R G6R @ QIR

@92JQ 2R 666 6 VIR ?

2J6m 266 642 QRRQ QIFT,

92 &ell AR Q@I agelen,

Q661 621Q 698 Q°6IQ AQH.

AR AR 62 2616 |
SubQuestion No : 8
Q.8 -geQaEa gég) Q4R |~ 92l 664 UQER QIRY?
s X 1. GOIgR
o 2. RQlee
X 3. 960 Qae

X 4. R0 Qe6Ixy Qae

Question ID : 630680452658
Option 11D : 6306801767643
Option 2 ID : 6306801767644
Option 3 ID : 6306801767646
Option 4 ID : 6306801767645
Status : Answered
Chosen Option : 4




Comprehension :

RERE ARvPaIg ARg Ne° 121 ARINER JgPaa aaa daig
ellaly

fl6R QIE Q6A AIRIA AQIA.
eneal-Glasd gert Al gie |
99gQEa gog QelR.

A5 QIEP 6lR8e 6060 QIR ?
69 4P| F6R G6R @ QIR
@Q2JQ 2R 6866 6 VIR ?
2J6m 266 649 Q@R QIFT,
92 &ell AR Q@I agelen,
Q661 621Q 698 Q°6IQ AQH.
AR AR 62 2616 |

SubQuestion No : 9
Q9 aeea q_é QIe1 Q61 gml?
Ans o 1 (ATl

X 2. 6@l

X 3. 6RlE@

X 4 Qe
Question ID : 630680452659
Option 11D : 6306801767647
Option 2 ID : 6306801767649
Option 3 ID : 6306801767650
Option 41D : 6306801767648

Status : Answered
Chosen Option : 1
Q10 6eQT "RY @ 9FaR 62Q?
ans X199

X 2. en

X 3. @Qd

o 4. Qa0
Question ID : 630680452661
Option 11D : 6306801767655
Option 2 ID : 6306801767657
Option 3 ID : 6306801767658
Option 4 ID : 6306801767656

Status : Answered
Chosen Option : 4

Section : Fart 1 General Knowledge and Current Affairs




Q.1 Qgadg IRy @AQI 9e° daiad eeqI QIR ______ @ AUMGIEQ 66T A1 AREQ QF6R
A9 IR QIdY AGeIRAIER ¥E aIfE 29aI QITY *86R |

Ans X1 Qi@udi@
o 2. QIR Ag1
X 3. 6QAR 6R6RAIR
X 4. 2I6E 6R6RaIN

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680453386

6306801770552
6306801770553
6306801770555
6306801770554
Not Answered

Q.2 AR Qe U a1 ______, CIRQ AAARYRIN 6291 IR QIF G6R, AIFIQ AREIA QA
ere g canl. AT RTRIQAIER FU Q68 AFRIG 6AFINE QIRY (62l 62QIg AdR @Q
Q26em. 6062¢ ASRA JORE g2l AQAIER IQI GIREEANCY QM |

Ans X 1. Qg 6091
X 2. 6090616091
o 3. QUEN 621120 AR
X 4. 0990 601

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680453356
6306801770434
6306801770433
6306801770432
6306801770435

Not Answered

Q.3 All B vitamins help the body convert food (carbohydrates) into ______ (fuel). which is used to produce
energy.

Ans X 1. water vapor
5 2. oxygen
25 8. carbon dioxide

o” 4. glucose

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 41D :
Status :
Chosen Option :

630680453362
6306801770458
6306801770456
6306801770457
6306801770459
Answered

4




Q.4 The exploitation of as a source of energy made the industrial revolution possible.

Ans X' 1. gold

x 2. oxygen

& 3. coal

x 4. silver
Question ID : 630680453374
Option 11D : 6306801770504
Option 2 ID : 6306801770507
Option 3 ID : 6306801770506
Option 41D : 6306801770505

Status : Not Answered
Chosen Option : —-
Qs ______ became new Prime Minister of Nepal. appointed in December 2022.

Ans X 1. Ram Chandra Paundel
X 2. KP Sharma Oli
& 3. Pushpa Kamal Dahal

x 4. Girija Prasad Koirala

\

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680453343
6306801770383
6306801770380
6306801770382
6306801770381

Not Answered

0.6 QIAER QYT gR AETHE (2 ACRIAN. 2022) Q AREIA AT Q6 | 1 AAQ AYR CRAIRAEHI
QI QUIRY 6glE16Q agoig g8 QIeY 62l |

Ans X1 QAR 66l
X 2. eql
o 3. 11 Q64
X 4. GGl

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

630680453350
6306801770409
6306801770411
6306801770408
6306801770410
Answered

3




Q.7 adq Qieyg Ggc Qag: -

(A) 21608 QIAGY 62Q8 698 2Qgl. 6ANYER ERAIRAIER AR AFIRER FIALIR F1QRUINE!

e @RI QI AR 2IQENR 6l Qd@q A19Q QIS Q@2 |

(B) 21608@ Q1Y 6208 608 29gl. 60C2I6R CRAIRFIER QG AFIRER VAR F1ORUQE

A1 ARIC Qe A AIRER 62Q2Q1 AFRYR AR AR QSN |

Ans X' 1. @@, A G B O) 266
X 2. 6a9r B Oq 266
o 3. 6090 A OQ 266
X 4. QA6QIQ FRIQ 61EITE ged
Question ID : 630680453368
Option 11D : 6306801770482
Option 2 1D : 6306801770481
Option 3 ID : 6306801770480
Option 4 ID : 6306801770483
Status : Not Answered
Chosen Option : -~
s ______ QR AIFRAR AQI 9Q° @gERIERE ARl 8 a°gIa AR ANIRYERQ R68 gAS!
aegIel gem |
Ans X' 1. Q 2IQ 26eaa
X 2. Q6RIQ1 QIEQ
o 3. 66180 QURIER
X 4. Q0 deqeq
Question ID : 630680453380
Option 11D : 6306801770530
Option 21D : 6306801770529
Option 3 ID : 6306801770531
Option 4 ID : 6306801770528
Status : Answered
Chosen Option : 1
Q9 gaideq eqe 6easd ______ QAR QR4 |
Ans X' 1. 6@QR ARIAICAILL 69<
X 2. Qelig 69Q
o 3. 121606110, 64Q
K 4. 26 666109 699
Question ID : 630680453392
Option 11D : 6306801770578
Option 2 1D : 6306801770577
Option 3 ID : 6306801770576
Option 4 ID : 6306801770579
Status : Not Answered

Chosen Option :




Q.10 @@ 21. 2023 &R 6616R BTAIR FEIAFT IR RITERE AR SRIRYER | €Il G2l FEAIQIFARFR
6dINR QRO G068 @AQI ______ Q AW 266 |

Ans X 1. geNAIgT 6QlSIR 6QIRRI
X 2. geli9g1 QIR GQI6l 6AIRAI
X 3. geiagt 2IRia 6aIRal

o 4. eliagT a°gq 9] eaIeel

Question ID : 630680453338
Option 11D : 6306801770362
Option 2 ID : 6306801770363
Option 3 ID : 6306801770360
Option 41D : 6306801770361
Status : Answered
Chosen Option : 4
Section : Fart 1 Reasoning Ability
Q1 4q 65169, §sia 26 S1SQ 18 611 2160 | ERIFTER SIR FUE 23 671 2166 | Rrl 99° TERAINIS FIR CRIER 35 04
Seyrhe IF 218 | 6a4Teq agale SeYZha arel 4 99 |
Ans X1 78
V2 76
<3 7§
x4 77
Question ID : 630680453318
Option 11D : 6306801770281
Option 2 ID : 6306801770283
Option 3 ID : 6306801770282
Option 41D : 6306801770280
Status : Answered
Chosen Option : 2
Q.2 55 geeie AER-0E6R 998 280G 98 §F QEIF, 6869 9ak 06 696815 PER-E 98 SURET4R InR 679 e
QUaEedsn 6618 626 ?
LOGIC FRIED DRAIN HINGE PRANK
Ans X1 1
X213
X3 4
K.
Question ID : 630680453288
Option 11D : 6306801770162
Option 2 ID : 6306801770161
Option 3 ID : 6306801770163
Option 41D : 6306801770160
Status : Not Answered
Chosen Option : —-




Q.3  1f M denotes ‘addition’, N denotes ‘multiplication®, O denotes ‘subtraction’, and P denotes *division’, then what will be the value of
the following equation?
1AMION28P404=7

Ans x 1. ].SU
+ 2 80
X2 124
X 4 48
Question ID : 630680453276
Option 11D : 6306801770115
Option 2 ID : 6306801770113
Option 3 ID : 6306801770114
Option 4 ID : 6306801770112
Status : Answered
Chosen Option : 2
Q.4 Select the option that is related to the third number in the same way as the second number is related to the first number.
324 :18::784: 7
Ans i 28
X2 20
X3 26
x4 22
Question ID : 630680453282
Option 11D : 6306801770139
Option 2 ID : 6306801770136
Option 3 ID : 6306801770138
Option 4 ID : 6306801770137
Status : Answered
Chosen Option : 1
Q.85  Four letter-cluster pairs have been given, out of which three are alike in some manner and one is different. Select the odd letter-
cluster pair.
At %1 OK:QN
X2 UE:WH
X3 WB:YE
« 4 EU:GY
Question ID : 630680453312
Option 11D : 6306801770259
Option 2 ID : 6306801770258
Option 3 ID : 6306801770256
Option 41D : 6306801770257
Status : Answered
Chosen Option : 4




Q.6

Two Statements are given followed by two conclusions mumbered I and II. Assuming the statements to be true, even if they seem to
be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.

Statements:

Statement I: Some cats are dogs.

Statement II: No dog is a lion.

Conclusions:

Conclusion I: Some dogs are not cats.

Conclusion II: Some lions are dogs.

A .
" X1 Only conclusion I follows
X 2. Only conclusion IT follows
< 3. Both conclusions I and II follow
« 4 Neither conclusion I nor 1T follows
Question ID : 630680453330
Option 11D : 6306801770328
Option 2 ID : 6306801770329
Option 3 ID : 6306801770330
Option 4D : 6306801770331
Status : Answered
Chosen Option : 4
Q.7 six friends, Hank, Prank, Crank, Rank, Sank. and Tank are sitting around a circular table facing each other. Crank is exactly in
between Tank and Prank. Rank is exactly in between Hank and Sank. Sank sits to the immediate right of Tank. Who sits to the
immediate left of Prank?
Ans x . g I
X 2 Rank
X 3 Crank
« 4 Hank
Question ID : 630680453324
Option 11D : 6306801770306
Option 2 ID : 6306801770307
Option 3 ID : 6306801770305
Option 4 ID : 6306801770304
Status : Answered
Chosen Option : 4
Q.8 1Inacertain code language, if COURSE is coded as DPVESR, TOWARD is coded as UPXDRA, then what will FREQUENT be
coded as?
A
" X1 QERFVFOU
« 2. GSFRTNEU
X 3 GSFRVFOU
X 4 QERFTNEU
Question ID : 630680453300
Option 11D : 6306801770209
Option 2 ID : 6306801770211
Option 3 ID : 6306801770208
Option 4 ID : 6306801770210
Status : Answered
Chosen Option : 2




Ais X1 ERDCNZ

Q.9  select the option that is related to the fifth number-letter cluster in the same way as the fourth number-letter cluster is related to the
third number-letter cluster and the second number-letter cluster is related to the first number-letter cluster.
PRETTY : ERPUUZ :: LOVELY : VOLFMZ :: DREAMY : ?

« 2 ERDBNZ

X 3 ESFANZ

X 4 ESFYMA
Question ID : 630680453306
Option 11D : 6306801770233
Option 2 ID : 6306801770232
Option 3 ID : 6306801770235
Option 4 ID : 6306801770234

Status : Answered
Chosen Option : 2
Q.10 — —

4G X x Y ] Y@ dg1 X 2oy |

A8 X+ Y e Y @ I X 258" |

GG X +Y Y @ g2 X 298 |

98 X-Y Qad Y@ 8aX2AT |

JRdaIS ‘P x R+ S + Q' 661 P, 98669 Q @0l 961 6969 7

Ans X1 E]iq

X 2 W6l

X 3 glig]

v+ 09Iy
Question ID : 630680453294
Option 11D : 6306801770186
Option 2 ID : 6306801770184
Option 3 ID : 6306801770187
Option 4 ID : 6306801770185

Status : Answered
Chosen Option : 4

Section : Fart 1 Computer Literacy




Q1 2q6a6° Gge a96req. IQ Q661QE TR (context switch) @ 612
Ans o 1. QR 21J6REIQ AIEQ T @Al

X 2. Qg 4eQ 2IRIag] Fea §Q @t

< 3. Qg 296a6° Age Ausa §e @ae!

X 4. GQQ 21669Q HARY FIER TR 8RR

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680452733
6306801767945
6306801767944
6306801767947
6306801767946

Not Answered

Q. 2 In the context of networking, what does QoS stand for?
Ans X' 1. Query Optimization System

#5 2. Quantitative Output Scanner
25 8. Quick Online Support

& 4. Quality of Service

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :
Status :
Chosen Option :

630680452709

6306801767850
6306801767851

6306801767849
6306801767848
Answered

3

Q.3 QQyC-6q "6@QIERTFIR" (hexadecimal) AQ @ &1 Q¢TlN?
Ans o 1. 609 16 REIQ° TQF

K 2. 609 2 AgRr dgel

X 360910 RqQ° Ae

X 4. 699 8 e Age

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :
Status :
Chosen Option :

630680452727

6306801767923
6306801767920
6306801767922
6306801767921

Answered

4




Q.4  Which ethical principle suggests that individuals should have control over their own personal data?

Ans & 1. Data ownership
X 2. Data autonomy
x 3. Data sovereignty
x 4. Data stewardship
Question ID : 630680452715
Option 11D : 6306801767875
Option 2 1D : 6306801767874
Option 3 ID : 6306801767873
Option 4 ID : 6306801767872
Status : Answered
Chosen Option : 1
Q.5 Which component of a computer is responsible for temporarily storing data and program instructions during
processing?
Ans x 1. HDD (Hard Disk Drive)
x 2. CPU (Central Processing Unit)
f 3. RAM (Random Access Memory)
#X 4. GPU (Graphics Processing Unit)
Question ID : 630680452721
Option 11D : 6306801767898
Option 2 ID : 6306801767897
Option 3 ID : 6306801767896
Option 41D : 6306801767899
Status : Answered
Chosen Option : 3
Section : Fart 1 Child Development Learning Curriculum and Assessment
Q.1  Which technique can be used by teachers to encourage students to think deeper during a discussion?
Ans o 1. Using leading questions.
25 2. Avoiding student queries.
5 8. Encouraging rote memorization.
x 4. Providi g i diate S.
Question ID : 630680452910
Option 11D : 6306801768653
Option 2 ID : 6306801768654
Option 3 ID : 6306801768655
Option 4 ID : 6306801768652
Status : Answered
Chosen Option : 4




Q.2 Which issue is often associated with the teacher-centered approach?
Ans X 1. Too student-driven

x 2. Oueremphasis on experiences
J 3. Over-reliance on textbooks

x 4. Too much flexibility

Question ID : 630680452850
Option 11D : 6306801768414
Option 2 ID : 6306801768415
Option 3 ID : 6306801768413
Option 41D : 6306801768412
Status : Answered
Chosen Option : 3
Q.3 Which factor primarily influences the nature of learning in children?
Ans X1 Age
x 2. Immediate rewards.
x 3. Physical strength.
& 4. Interaction with the environment.
Question D : 630680452916
Option 11D : 6306801768679
Option 2 ID : 6306801768677
Option 3 ID : 6306801768676
Option 41D : 6306801768678
Status : Answered
Chosen Option : 4
Q.4 Why is parental involvement encouraged in the impl tation of inclusive education?
Ans « 1. To foster a deeper connection between home and school,
X 2. To reduce the school's responsibilities.
X 8. To minimize extracurricular activities.
x 4. To focus solely on academic achievements.
Question ID : 630680452880
Option 11D : 6306801768533
Option 2 ID : 6306801768532
Option 3 ID : 6306801768535
Option 41D : 6306801768534
Status : Answered
Chosen Option : 1




Q.85 RTE places a strong emphasis on the qualifications of school teachers. By what year were all teachers
expected to possess the necessary qualifications?

Ans X' 1. 2015
X 2. 2012
< 3. 2017
o 4. 2019
Question ID : 630680452862
Option 11D : 6306801768461
Option 2 ID : 6306801768460
Option 3 ID : 6306801768462
Option 4 ID : 6306801768463
Status : Answered
Chosen Option : 1
0.6 9@ gf¢ 664 9ge FARIERER. FAARY SR IR 6168 @ & Fliciadn adal adq?
Ans X1 e @dQ 2P0 aaINIQ 9] |
X 2. Q191 996, 60 FAUER YILRIFTFOIQ FGIFS 624! |
o 3. 699 gRG IRl 6REIEE g6 ARG, ORGI G QERE! |
5 4. 90, A0 QIO deq |
Question ID : 630680452892
Option 11D : 6306801768583
Option 2 ID : 6306801768581
Option 3 ID : 6306801768582
Option 4 ID : 6306801768580
Status : Answered
Chosen Option : 3
Q.7 624 gl TSR, QYRS AI0YGA (FFiR fAgRM) 986 duiand QI6e 866
6@IR2lINg?
Ans X 1. Q104971 QDGO (YQLIRRQGRIS)
75 2. 2RUIRY AIOYQ (E0-RAgRIQ)
¥ 3. 10497 (RQQRIRQ)
X 4. A2-A1049¢1 (6R1-RAGRE)
Question ID : 630680452856
Option 11D : 6306801768436
Option 2 ID : 6306801768439
Option 3 ID : 6306801768438
Option 4 ID : 6306801768437
Status : Not Answered

Chosen Option :




Q.8 When a student tries to understand the underlying concept rather than just memorizing the facts, what type

of learning is the student engaging in?
Ans #5 1. Rote learning

o 2. Deep learning
x 3. Surface learning

X 4. Passive learning

Question ID : 630680452928
Option 11D : 6306801768725
Option 2 ID : 6306801768726
Option 3 ID : 63068017687 24
Option 4 ID : 6306801768727
Status : Answered
Chosen Option : 1
Q.9 QoY G€IEl (curriculum construction) Q 6RQ Q16 AARARENR AIAIFS. 6FATR 9Q° diFICe
QI3QI 980 AGFRAG AL aRielg?
Ans X1 IQRIQRQE
o 2. 20190
X 3. aGRol
X 4. 2209100
Question ID : 630680452868
Option 11D : 6306801768486
Option 2 ID : 6306801768487
Option 3 ID : 6306801768485
Option 4 ID : 6306801768484
Status : Answered
Chosen Option : 1
Q.10 Which of the following best describes a curriculum that integrates local culture and experiences?
Ans o 1. Contextualized Curriculum
x 2. Rote-based Curriculum
x 3. Centralized Curriculum
X 4. Generic Curriculum
Question ID : 630680452904
Option 11D : 6306801768630
Option 2 ID : 6306801768631
Option 3 ID : 6306801768629
Option 4 ID : 6306801768628
Status : Answered

Chosen Option :

1




Q.11 How does ‘assessment’ differ from

ement and evaluation in education?

Ans X 1. Its limited to numerical scores.
x 2. It's exclusively for grading purposes.
J 3. It's a broader process encompassing measurement, evaluation, and feedback.
x 4. It only involves oral examinations.
Question ID : 630680452898
Option 11D : 6306801768604
Option 2 ID : 6306801768607
Option 3 ID : 6306801768605
Option 4 ID : 6306801768606
Status : Answered
Chosen Option : 3
Q.12 In the process of curriculum development at the el tary level. why is a needs assessment crucial?
Ans x 1. To increase the number of subjects.
X 2. To make the curriculum more challenging.
& 3. To ensure the curriculum aligns with societal and learner needs.
x 4. To limit the input of educators.
Question ID : 630680452874
Option 11D : 6306801768508
Option 2 ID : 6306801768510
Option 3 ID : 6306801768509
Option 4 ID : 6306801768511
Status : Answered
Chosen Option : 3
Q.13 gaueain1 fine AR S8 ANgIQ 999 9°610R RIER geead 2662
Ans X1 9@ QR 8REl 2°eeq! 9§ @Qe! dIa |
o 2. QEIF6N G° ARSI FFIGIG 98 @8 AR |
X 3. 6dediees Fu0ege 4REe @6l alal |
X 4. Gagega aQle 9F @QQl a6l |
Question ID : 630680452934
Option 11D : 6306801768751
Option 2 ID : 6306801768750
Option 3 ID : 6306801768749
Option 4 ID : 6306801768748
Status : Answered
Chosen Option : 2




Q.14

Which psychologist is most closely iated with the pt of observational learning, highlighting how
individuals can learn by simply watching others?

Ans x 1. B. F. Skinner
X 2. Jean Piaget
o 3. Albert Bandura
x 4. Erik Erikson
Question ID : 630680452922
Option 11D : 6306801768702
Option 2 ID : 6306801768701
Option 3 ID : 6306801768703
Option 4 ID : 6306801768700
Status : Answered
Chosen Option : 3
Q.15 Why is ensuring a safe educational environment crucial for the education of the girl child?
Ans x 1. To discourage community participation.
& 2. To address concerns of security and enhance female enrollment.
x 3. To minimize extracurricular activities.
x 4. To decrease enrollment rates.
Question ID : 630680452886
Option 11D : 6306801768557
Option 2 ID : 6306801768558
Option 3 ID : 6306801768559
Option 4 ID : 6306801768556
Status : Answered
Chosen Option : 2
Section : Fart 11 Subject Contents
Q.1 J9R QIAGICE, LIGHIT B6G dalan dedian atede 9@21‘-‘“ sRIRE gogl G4g | SllaY gedar ctgds 9@&_@ 6lIY emlaar
R 990 99T FERR 99° QIR 99de1 RGde G5ER GRING SPEN FIGR CEiRy Bda AS |
2000
1500 1721
1600 1471
_ 1400
= 1200
"E 1000 taed 857
g 800
= 522
g =
200
i @QQW Y Sl /A laple]
gadat
Ans X1
- 249
v 241
X3 253
x4 255
Question ID : 630680453561
Option 11D : 6306801771254
Option 2 ID : 6306801771262
Option 3 ID : 6306801771255
Option 4 ID : 6306801771253
Status : Answered
Chosen Option : 2




Q.2

99 961918 Geaa gdi gFQIRR A (219 AP 6RU6TARIR T6EIT) 6968 ?

Ans X1 1
K29
X3 0
¥4 3
Question ID : 630680453603
Option 11D : 6306801771422
Option 2 ID : 6306801771421
Option 3 ID : 6306801771420
Option 4 ID : 6306801771423
Status : Answered
Chosen Option : 4
Q.3  The given histogram shows the number of workshops organised by a NGO in different areas during the last five years. What is the
total mumber of workshops organised?
-l
H
c
o
]
o
%
=
]
=
]
E
E
3
=
2017-2018  2018-2019  2019-2020  2020-2021  2021-2022  2022- 2023
Years
Ans X1 9500
« 2 9561
X 39400
X 4 9560
Question ID : 630680453555
Option 11D : 6306801771230
Option 2 ID : 6306801771229
Option 3 ID : 6306801771231
Option 41D : 6306801771228
Status : Answered
Chosen Option : 2




Q.4 Find the total surface area of a cone, if its slant height is 22 cm and diameter of its base is 42 cm.
Ars X1 2488 em?

2. 2838 cm?

X3 2722 cm?

K4 2480 cm?

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 41D :
Status :
Chosen Option :

630680453609
6306801771444
6306801771446
6306801771445
6306801771447
Not Answered

@5 Two numbers are in the ratio of 14:15. If their HCF is 2, find the numbers.

A .
" X1 28and 60
« 2 28 and 30
X3 22 and 44
X 4 44 and 55
Question ID : 630680453579
Option 11D : 6306801771325
Option 2 ID : 6306801771326
Option 3 ID : 6306801771324
Option 4 ID : 6306801771327
Status : Answered
Chosen Option : 2
Q.6 g P60 §9 g8 7 859 94 9, 97 cHIFRIAER 1:00 p.m. 69 Q0G 97L 69RR glﬁ\‘lg\ﬁi 697 QAUARE | Qe
6LIFIQINER AZT 1:00 p.m. 69 6965 DL 694N ?
Ans , .
X1 12:21 p.m.
v 2 1211 p.m.
X3 111 pm.
<4 11:11 a.m.
Question ID : 630680453573
Option 11D : 6306801771303
Option 2 ID : 6306801771301
Option 3 ID : 6306801771302
Option 4 ID : 6306801771300
Status : Not Answered
Chosen Option : -~




Q.7

A8 g6F19 69I9IRG 9R D9l QI 77 5F ¥9° 69019 619G o1R P09 IR 60 ARG 6602, 6969 64 AS1H 6969

e oinag ?
Ans % 1 —_—
A2 g8l 20 F199
X2 16l 17 €a¢
<31 gal 20 f99
v 4 2 W&l 17 €1a9
Question ID : 630680453566
Option 11D : 6306801771273
Option 2 ID : 6306801771272
Option 3 ID : 6306801771275
Option 41D : 6306801771274
Status : Answered
Chosen Option : 4
Q.8 gea e acmIcn D19 SRKIG 34% Cid 9OEE GRS AISENG | 68 147 €ld FIZIG 99° 23 FI4 QI8 6ePm 9PIE | eIy e
6966 2
Ans x 1. 580
¥ 2 5600
<3 600
X 4. 440
Question ID : 630680453597
Option 11D : 6306801771398
Option 2 ID : 6306801771397
Option 3 ID : 6306801771399
Option 4 ID : 6306801771396
Status : Not Answered
Chosen Option : -~
@9 1p a class of 150 students, 33 are girls. Find the percentage of boys in the class.
Ars @1 T78%
X2 64%
< 3. 90%
X4 T7%

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680453585
6306801771348
6306801771350
6306801771351
6306801771349
Not Answered




@10 Find the value of 48 + 4 x (7 + 11 of 4) + 38 - 2
s X1 664

X 2 570
o 3 p48
x4 640
Question ID : 630680453591
Option 11D : 6306801771372
Option 2 ID : 6306801771374
Option 3 ID : 6306801771373
Option 41D : 6306801771375
Status : Answered
Chosen Option : 3
Q11 Feqg FRIQ 626 QIR AAQ6] AN R6a?
Ans X1 Q°Q10Q
o 2. A9Q
X 3. 2IQAIRIEEe Q4R
X 4. 0@
Question ID : 630680453251
Option 11D : 6306801770015
Option 2 ID : 6306801770012
Option 3 1D : 6306801770014
Option 4 ID : 6306801770013
Status : Not Answered

Chosen Option :

Q.12 Which of the following is not a type of Hazard?
Ans X' 1. Physical

X 2. Chemical
o 3. Electrical

x 4. Biological

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680453227
6306801769916
6306801769917
6306801769919
6306801769918
Answered

3




QB gaea______ Qfde gyl

Ans X1 669
o 2. 999
/5 3. 2gie,
X 4. gae
Question ID : 630680453239
Option 11D : 6306801769967
Option 2 ID : 6306801769964
Option 3 ID : 6306801769965
Option 4 ID : 6306801769966
Status : Answered
Chosen Option : 2
Q.14 GFala @figd ageea. agqa cacfide aeqfia aeelssficaq fica Auea 6@IR2lN
I
Ans X1 25
o 2. 305
X 3. 510
X 4. 200

Question ID : 630680453269
Option 11D : 6306801770085
Option 2 ID : 6306801770087
Option 3 ID : 6306801770086
Option 41D : 6306801770084
Status : Not Answered
Chosen Option : —-

Q.15 edieg dR6AIT QIR gOg AIRER 6FRIGR QIR F2I8 *AIAIRYRI JRQFg & 8 geIaNe?
Ans X1 Qyeaide @6l

X 2. ARd6R6R6Q
X 3. Geavtie qlgl
o 4. RIETR

Question ID : 630680453221
Option 11D : 6306801769895
Option 2 ID : 6306801769892
Option 3 ID : 6306801769894
Option 41D : 6306801769893
Status : Answered
Chosen Option : 3




Q.16 What is the full form of PlLs?
Ans X' 1. People Interest Litigation

x 2. Person Interest Litigation
o 3. Public Interest Litigation

x 4. Personal Interest Litigation

Question ID : 630680453215
Option 11D : 6306801769868
Option 2 ID : 6306801769870
Option 3 ID : 6306801769869
Option 41D : 6306801769871
Status : Answered
Chosen Option : 3
Q.17 Which of the following is not a Kharif crop?
Ans x 1. Maize
x 2. Gotton
o 3. Wheat
x 4. Bajra
Question ID : 630680453263
Option 11D : 6306801770060
Option 2 ID : 6306801770063
Option 3 ID : 6306801770061
Option 41D : 6306801770062
Status : Answered
Chosen Option : 2
Q.18 Normal rainfall rate of Odisha is:
Ans X 1. 1400 mm
X 2. 1350 mm
X 8. 1300 mm
J 4. 1450 mm
Question ID : 630680453257
Option 11D : 6306801770038
Option 2 ID : 6306801770037
Option 3 ID : 6306801770036
Option 41D : 6306801770039
Status : Not Answered

Chosen Option :




Q.19 In which of the following year, Quit India Movement started?
Ans X1 1941

o 2. 1942
X 3. 1939
X 41940
Question ID : 630680453233
Option 11D : 6306801769942
Option 2 ID : 6306801769943
Option 3 ID : 6306801769940
Option 41D : 6306801769941
Status : Answered
Chosen Option : 2
Q.20 Qeglig AU aQIda el uel. 6ageq QI aRlda adicla aaea fea Req?
Ans X1 QIO A6
o 2. Q106 ud
X 3 QAR Je
X 4. Q66e0Q e
Question ID : 630680453245
Option 11D : 6306801769990
Option 2 ID : 6306801769988
Option 3 ID : 6306801769991
Option 4 ID : 6306801769989
Status : Answered
Chosen Option : 3
Q. 21 Fill in the blank with the correct adverb.
She sang the lullaby _______ to soothe her baby to sleep.
Ans X 1. clumsily
X 2. wildly
o 3. melodiously
X 4. seriously
Question ID : 630680453747
Option 11D : 6306801771941
Option 2 ID : 6306801771943
Option 3 ID : 6306801771940
Option 4 ID : 6306801771942
Status : Not Answered
Chosen Option : —-




Q. 22 Complete the sentence with the correct form of the tense:
In a few months, she _____ the piano for a decade.

Ans X 1. will play
X 2. will have played
25 3. will be playing

o 4. will have been playing

Question ID : 630680453783
Option 11D : 6306801772087
Option 2 ID : 6306801772084
Option 3 ID : 6306801772085
Option 4 ID : 6306801772086
Status : Answered
Chosen Option : 1
Q. 23 Complete the sentence with the correct form of the tense:
He ______ his opinion on this matter for years until now.
Ans X 1. doesn’t change
X 2. hasn't change
o 3. didn't change
75 4. hasn't been changing
Question ID : 630680453789
Option 11D : 630680177 2111
Option 2 ID : 6306801772108
Option 3 ID : 6306801772110
Option 4 ID : 6306801772109
Status : Not Answered

Chosen Option :

Q. 24 Fill in the blank with the correct preposition.

The musicians played their instruments, filling the concert hall - ______ beautiful melodies.

Ans X 1. for the sake of
x 2. instead of

o 3. with
X 4. against

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :
Status :
Chosen Option :

630680453759
6306801771988
6306801771991
6306801771989
6306801771990
Not Answered




Q. 25 The word given in the brackets defines the modification of the noun. Based on this understanding fill in the

Ans

blank with the correct adjective from the given options.

The (foreign)_______ forest was filled with rare and unusual plants that fascinated botanists from around
the world.
X1 tacit
o 2. exotic
x 3. crowded
X 4. gloomy
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

630680453741
6306801771919
6306801771916
6306801771917
6306801771918

Not Answered

Q. 26 Complete the sentence with the appropriate article to make it grammatically correct.

Ans

She found ______ dollar on the sidewalk.
x 1. the
x 2. no article needed

x 3. an
w4 a

Question ID :

Option 11D :

Option 2D :

Option 31D :

Option 4 1D :

Status :

Chosen Option :

630680453735
6306801771894
6306801771895
6306801771892
6306801771893

Not Answered

Q. 27 Fill in the blank with the correct possessive noun.

Ans

She admired her _______ beautiful artwork.
x 1. friends
x 2. friends’
o 3. friend's
x 4. friend
Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680453753
6306801771965
6306801771966
6306801771967
6306801771964
Answered

4




Q. 28 Fill in the blank with the correct phrasal verb.

Ineedto _______ my research paper before the deadline.

Ans X' 1. carryon
o 2. turn in
X 3. give out
5 4. bring up

Question ID :

Option 11D :

Option 21D :

Option 3 ID :

Option 41D :

Status :

Chosen Option :

630680453765
630680177 2014
630680177 2015
6306801772012
6306801772013
Not Answered

Q. 29 Based on the sentence given below answer the question
The team members, Mark. the project manager, and Mary. the lead developer. gathered for the meeting.

The commas around "the project manager” and "the lead developer” serve to

Ans o 1. set off nonessential information
#5 2. join two independent clauses
x 3. indicate omitted words

x 4. create a compound sentence

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

630680453777
6306801772061
6306801772063
6306801772060
6306801772062

Not Answered

Q. 30 Choose the correct meaning of the punctuation from the given options:
“It's going to be a beautiful day at the beach. " the apostrophe in "It's” indicates

Ans x 1. possession of the beach

o 2. a contraction of "It is”
x 3. a plurdl form of "it"

x 4. a possessive form of "it”

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

630680453771
6306801772037
6306801772036
6306801772038
6306801772039
Not Answered




Q.31 60l 62 MGIQ PR | I& QIRIEQ 6REE ATRIA AQ ?
Ans X1 TR

X 2 qg
o 3. 60!
X 4. Q0!
Question ID : 630680455685
Option 11D : 6306801779690
Option 2 ID : 6306801779689
Option 3 ID : 6306801779691
Option 41D : 6306801779692
Status : Answered
Chosen Option : 3
Q.32 gee Q@R - 6QIRE QT 6aQ gRIQ &4l ?
Ans X1 aede
o 2. dade
X 3. ediGe
X 4. fade
Question ID : 630680453852
Option 11D : 6306801772361
Option 2 ID : 6306801772360
Option 3 ID : 6306801772362
Option 41D : 6306801772363
Status : Answered
Chosen Option : 1
Q.33 GAIQ IR QA & & QRIAN ?
Ans X' 1. Qg
W 2.9
X 3. 9oYa
X 4. 89
Question ID : 630680453844
Option 11D : 6306801772328
Option 2 ID : 6306801772331
Option 3 ID : 6306801772329
Option 41D : 6306801772330
Status : Answered
Chosen Option : 2




Q.34 QIgIq AGA°@l 6QIR GRIAIN ?
Ans X1 QQ@

X 2. Qi@

o 3. I

X 4. @

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :
Status :
Chosen Option :

630680455684
6306801779688
6306801779686
6306801779687
6306801779685

Not Answered

Q.35 '6@Qel dea AAIERRIS 6IQ 626 @ |
Ans X1 €I0Q

X 2. 206

« 3. 99

X 4200
Question ID : 630680453873
Option 11D : 6306801772446
Option 2 ID : 6306801772447
Option 3 ID : 6306801772444
Option 4 1D : 6306801772445

Status : Not Answered
Chosen Option : -~
Q.36 60I'Q6ARR 6C166 ______ AR RIGE | QAYF QAE QI IR 98 @Q |

Ans o 1. 2IQI61 @gA
X 2. 20 60660 @dE ARal
5 3. 28 qaelaal
X 4. enamid

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 1D :
Status :
Chosen Option :

630680453888

6306801772504
6306801772505
6306801772507
6306801772506

Not Answered




Q.37 e’ AR FAQICERRIR 6IQ X6l ?
Ans X1 Q0w

X 2. AFeRqE
X 3 2acen
o 4. 200R

Question ID : 630680455682
Option 11D : 6306801779677
Option 2 ID : 6306801779678
Option 3 ID : 6306801779679
Option 4 ID : 6306801779680
Status : Not Answered
Chosen Option : --

Q.38 "QIAIER" 6RE! AIUAER 106 ?
Ans X 1 aqia

o 2. 9B

X 2 49

K 4. 6066 ged

Question ID : 630680455683
Option 11D : 6306801779681
Option 2 ID : 6306801779683
Option 3 ID : 6306801779682
Option 4 ID : 6306801779684
Status : Not Answered
Chosen Option : -~

Q.39 QR ¢ 604 gRlaa §4 ?
Ans 21 206

X 2. a@del @

X 3. aede §al

X 4. g qau

Question ID : 630680453847
Option 11D : 6306801772340
Option 2 ID : 6306801772343
Option 3 ID : 6306801772342
Option 4 ID : 6306801772341
Status : Answered

Chosen Option : 1




Q.40 qgIe -sea gGaa @6l ?
Ans X1 Qe

& 2. Qe
X 3. ARAR
X 4. QAee°dl
Question ID : 630680455680
Option 11D : 6306801779671
Option 2 ID : 6306801779669
Option 3 ID : 6306801779672
Option 4 ID : 6306801779670
Status : Answered
Chosen Option : 2
Section : Fart 1l Pedagogy
A1 op Ge0d1gEq BIFIER 6816617 (cognitive domain) 69 AUYS R6GEY I8 6717 @9 |
SRAEN:
(i) 959 Fglelal GG €168 SRIRRI B €168 YRl Ael TTAIS FEIG! |
(i) QIFIENG 2A9Y DI 9EE %6 997 168 69 4°606 @G ¥9° 4Gl RLGIR AFS! |
Ans . . — = =
v (i) BI 99° (ii)- 98I 9Gel QI 691 @
X2 (i)-989 9Bl Q1 691 &1 (ii)-]Ie
X o (i)- QBRI 9GRSl 691 1@ (i) F€el BE!
X4 (i) |9 99° (i)-949l /89!
Question ID : 630680453530
Option 11D : 6306801771129
Option 2 ID : 6306801771128
Option 3 ID : 6306801771131
Option 4 ID : 6306801771130
Status : Answered
Chosen Option : 1
Q.2 @68 G9aq () 99 967 SUA AUYTS FR9IG 979, (i) FAF 9898 951 AFS G (i) 98 IR AG8Ig 629 | FURES
FII5 6265 199 disl 950IR KUY 26e?
Ans — — — .
X1 €6go's W% (synthetic method)
X 2 Z96Rlelt]e d9e (Deductive method)
<3 eIl el IES (Problem-solving method)
« 4 2eollLlt]s d9% (Inductive method)
Question ID : 630680453542
Option 11D : 6306801771179
Option 21D : 6306801771177
Option 3 ID : 6306801771178
Option 4 ID : 6306801771176
Status : Answered

Chosen Option :

1




Q.3 99T SR 2ol a 98° b G2AIGIER, 26E AGG| GRT S8R LY g 99° r Fea RRIRS, 6KU0E a = bg + r 268 | FIRYE

5 6895 9991 07 26572

Ans o1 D <=r< b
X2 0<=q<b
X3 0<r=q<b
X4 0<=q<r
Question ID : 630680453536
Option 11D : 6306801771154
Option 2 ID : 6306801771152
Option 3 ID : 6306801771153
Option 4 ID : 6306801771155
Status : Not Answered
Chosen Option : -~
Q-4 «Mathematics is the language with which the God wrote the Universe.” -Galileo
The given statement focuses on the:
Ans

X 1. disciplinary nature of mathematics
« 2. beauty in the mathematical language

X 8. accuracy in mathematics
x 4

fact that religious beliefs can be explained through mathematics

Question ID : 630680453518
Option 11D : 6306801771081
Option 2 ID : 6306801771083
Option 3 ID : 6306801771082
Option 4 ID : 6306801771080
Status : Answered
Chosen Option : 2
“P Gange e 6e9l 9e gIRIdY (2IGe) 9682
v 98 AF9RER 6RIES IFIERIN 26E |
X 2. 6615 60 9T 606l FIRe 6Q1R2IN |
X 3.
YR Sgq 6419 FEM 6915 98° 699R 6515 IR 698 6LIRANEA |
X 4 69T 6939 65115 99° 699R 66T (1&I-Gg 2 |
Question ID : 630680453524
Option 11D : 6306801771106
Option 2 ID : 6306801771107
Option 3 ID : 6306801771105
Option 4 ID : 6306801771104
Status : Answered

Chosen Option :

1




Q.6 What pedagogical strategy in EVS encourages students to solve real-life environmental problems?

Ans x 1. Memorization strategy

& 2. Problem-solving approach
x 3. Listening approach

x 4. Lecture method

Question ID : 630680453191
Option 11D : 6306801769772
Option 2 ID : 6306801769773
Option 3 ID : 6306801769775
Option 41D : 6306801769774
Status : Answered
Chosen Option : 2
Q.7 ecael deig. 661G AIQEIG I66 @6 68, EVS SAIRIR 6RR 666162 6aG°6a a1fie adal
Qq gea?
Ans o 1. 6BlIRI 2IRIE O6R EINEIQ P16 (Principle of Open-Air Learning)
X 2. AQIRQIQ @18 (Principle of Uniformity)
75 3. QI @18 (Principle of Totality)
X 4. JORQQ Q16 (Principle of Restriction)
Question ID : 630680453203
Option 11D : 6306801769822
Option 2 ID : 6306801769823
Option 3 ID : 6306801769821
Option 41D : 6306801769820
Status : Not Answered

Chosen Option :

Q.8 Which statement best describes the significance of understanding the core concepts in EVS?
Ans

#5 1. It helps in understanding the environment from a theoretical perspective only.

75 2. It is solely for meeting academic curriculum requirements.

3

75 3. It only focuses on understanding human societies without idering the envir

o 4. It aids in building a foundation for deeper explorations into environmental issues and solutions.

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

630680453185
6306801769749
6306801769748
6306801769751
6306801769750
Answered

4




Q.9 Which principle is fundamental to effective EVS teaching?
Ans X' 1. Prioritizing rote learning.

X 2. Focusing solely on theoretical knowledge.

3

d

J 3. Integrating interdisciplinary themes and emphasizing the inter
society, and economy.

X 4. Avoiding real-world connections.

of the environment,

Question ID : 630680453209
Option 11D : 6306801769845
Option 2 ID : 6306801769847
Option 3 ID : 6306801769846
Option 41D : 6306801769844
Status : Answered
Chosen Option : 3
Q.10 In EVS pedagogy. the significance of 'field trips' is to:
Ans x 1. Take a break from studies
f 2. Offer an authentic firsthand experience of environmental concepts
25 8. Avoid classroom learning
25 4. Only for recreational purposes
Question ID : 630680453197
Option 11D : 6306801769796
Option 2 ID : 6306801769797
Option 3 ID : 6306801769799
Option 41D : 6306801769798
Status : Answered
Chosen Option : 2
Q.11 Which of the following are the characteristics of good composition writing?
Ans X' 1. Clarity. accuracy. conciseness, coherence, and relevance
X 2. Accuracy, verifiable, factual, rigorous, and rélevance
75 3. Graphics. colourful. vibrancy. good storyline, and life lessons
o 4. Focus. development, unity. coherence. and correctness
Question ID : 630680453649
Option 11D : 6306801771601
Option 2 ID : 6306801771600
Option 3 ID : 6306801771602
Option 41D : 6306801771603
Status : Not Answered

Chosen Option :




Q.12 Fill in the blank:

Ans

A learner's native language can both facilitate and ______ with learning the new language.

f 1. interfere
X 2. simplify

X 3. promote
x 4. forward
Question ID : 630680453643
Option 11D : 6306801771577
Option 2 ID : 6306801771578
Option 3 ID : 6306801771579
Option 4 ID : 6306801771576
Status : Answered
Chosen Option : 3
Q.13 How can a teacher help non-native speakers with writing assignments?
Ans X 1. Allowing non-native speakers to write their assignments in their language and asking others to
translate them.
25 2. Be lenient in awarding marks to the non-native speakers in order to motivate them.
« 3. Providing rubrics and explaining how many points are allocated to various parts of an assignment.
X 4. Asking native speakers to help the others write their assignments.
Question ID : 630680453637
Option 11D : 6306801771555
Option 2 ID : 6306801771554
Option 3 ID : 6306801771563
Option 4 ID : 6306801771552
Status : Answered
Chosen Option : 1
Q.14 What kind of techniques are 'ski g' and ing'?
Ans & 1. Reading techniques
) . Listening techniques
#< 2. Listening techniq
/X 8. Speaking techniques
X 4. Writing techniques
Question ID : 630680453625
Option 11D : 6306801771506
Option 2 ID : 6306801771504
Option 3 ID : 6306801771505
Option 4 ID : 6306801771507
Status : Answered
Chosen Option : 1




Q.15 What takes place after a substantive editing but before proofreading a manuscript?
Ans X 1. Developmental editing

X 2. Marketing

x 3. Manuscript evaluation

o 4. Copy editing

Question ID : 630680453631
Option 11D : 6306801771531
Option 2 ID : 6306801771530
Option 3 ID : 6306801771529
Option 4 ID : 6306801771528
Status : Answered
Chosen Option : 3
Q.16 GGz QIS 669 lIgIK QA Q6 6AITE 6IRYRI
Ans X1 9069
X 2. 9008
o 3. 90QY
X 4. 900y
Question ID : 630680453822
Option 11D : 6306801772242
Option 2 ID : 6306801772241
Option 3 ID : 6306801772243
Option 4 ID : 6306801772240
Status : Not Answered
Chosen Option : --
Q.17 &9 Q. YA 6 dIfQIR 2V TRIAING FANQIR K APRE! AR EAIREM ?
Ans X1 6@, Qlde
X 2. QR UA6AIRE QU
X 3. Q. aeem
o 4. 6010 F6gl6QIeN
Question ID : 630680453811
Option 11D : 6306801772196
Option 2 ID : 6306801772197
Option 3 ID : 6306801772198
Option 4 ID : 6306801772199
Status : Answered
Chosen Option : 4




Q.18 cael Al &g ARG daI16 AR 2aR1LY 2
Ans X1 ClRR QA

X 2. elgea Qual

X 3. dgRe Qal

W 4. AlIQQIA
Question ID : 630680453802
Option 11D : 6306801772163
Option 2 ID : 630680177 2161
Option 3 ID : 6306801772162
Option 4 ID : 6306801772160
Status : Answered
Chosen Option : 2
Q.19 QiEicia agl
Ans o1 GEIQl
X 2. e0ial
X 3. geal
X 4. dal
Question ID : 630680453815
Option 11D : 6306801772212
Option 2 ID : 6306801772214
Option 3 ID : 6306801772215
Option 41D : 6306801772213
Status : Answered
Chosen Option : 1
Q.20 gQa B QIR gRIS QUVIA 626 6RI6IR 2AQEE ?
Ans X 1. 9RCRS
X 2. A@B4e
o 3. QIQ2Qe
X 4. 2d6QRI@
Question ID : 630680453806
Option 11D : 6306801772179
Option 2 1D : 6306801772176
Option 3 ID : 6306801772178
Option 41D : 6306801772177
Status : Answered
Chosen Option : 2




